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2(200)AH2H A& 8 (230)RYAMIRS  MEH(237)37|7HIE  =:(405)AHHESH|S (el - He
3 =] 2
Ji_f?; ME = of & <7>1||A_+§ 3
g Al 138,921,440 (149,063,039 | 210,141,599
200 A2HR|Z 13,253,443 13,186,343 67,100
230 RYAR S 13,253,443 13,186,343 67,100
237 37|7HIE 411,443 344,343 67,100
405 Atz SH|IS 411,443 344,343 67,100
01 Atz SH| 411,443 344,343 67,100
OAESHAIA-(ARS) & 67,100,000¢ = 67,100




BQUOUEHAE FQISINIE MFQIVFEE F(40)AHIZT Y el 19
n 2

T E TR Aed | Gug| B3
200 AE2HA|= 16,668,240 13,985,240 2,683,000
230 RYAIRS 16,668,240 13,985,240 2,683,000
234 #==2 16,591,000 13,908,000 2,683,000
401 AlgH[Z RO 16,591,000 | 13,908,000 2,683,000
01 AlgH| 16,591,000 | 13,908,000 2,683,000

OADIE Y| QX<

—

24 14,481,000,000¥ - 7|4 11,798,000,000¥

2,683,000
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2(200)AH2A 2|2 g(260)BI7tSHBIAHRIS  MIEH(261) LS QIR F:(401) Al B L2 0| (el - He
n 2 2
Jérir-w@i of & <7>1|||A_+<§5| 3
200 A2H2|E 40,203,321 | 56,816,000 | 216,612,679
260 BHI7tsHB|IAHRS 38,979,000 | 55,616,000 | 216,637,000
261 HHSQUAMA 38,979,000 | 55,616,000 | 216,637,000
401 AlgH[Z RO 38,979,000 | 55,616,000 | 216,637,000
01 AlgH| 37,232,000 | 53,169,000 | 215,937,000
OYZ= xS 2=2 A8sAt ZZ 0 - 7|4 8,000,000,0009 = 28,000,000
Ot D2 Ald SA
#3 5,663,000,000¥ - 7|4 12,600,000,000% = 26,937,000
OERAIY B2 HESA
Z3 3,000,000,000¥ - 7|4 4,000,000,000% = 21,000,000
02 ZelH| 1,661,000 2,361,000 700,000
OYEE oA S22 HLSAt #4 0 - 7|4 700,000,000& = A700,000
290 7[ERRI2HR|Z 24,321 0 24,321
291 ZREZRF Ui 24,321 0 24,321
751 gtetg 24,321 0 24,321
02 Al-EHEzZgtetg 24,321 0 24,321
(020204 AFDATA|AM JHZIAIY 222 25 kol
24,321,000¢ = 24,321
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200 AE2HA|= 6,909,254 | 6,599,254 310,000

230 FAHR= 6,909,254 6,599,254 310,000

234 AE=2 6,794,254 | 6,494,254 300,000

401 A|QH|ZLCHH]| 6,794,254 6,494,254 300,000

01 AlgH| 6,778,058 | 6,478,058 300,000
OMTE A|ESZAL 300,000
OZUL(AYAT) e A[ESAL 300,000,000 = 300,000

237 37|7HIE 10,000 0 10,000

405 ZAR|EHIS 10,000 0 10,000

01 AH2|EH| 10,000 0 10,000
O0|sA s 8= 7 8,700,000 = 8,700
OZ2F7 A8 MEr= 1,300,000% = 1,300
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200 AR2AHZ|E 5,844,330 5,218,350 625,980
230 RAALRS 5,844,330 | 5,218,350 625,980
235 7[AEA 1,540,450 940,450 600,000
401 AldB|Z Lo 1,540,450 940,450 600,000
01 AlgH| 1,540,450 940,450 600,000
O34 FSAEHYR 250,000,000 = 250,000
O30{pR| BHM 27 350,000,000¥ = 350,000
237 37|7HIF 200,880 174,900 25,980
405 AHt2|SHIS 200,880 174,900 25,980
01 ZHIZ|SH| 200,880 174,900 25,980
OMSAREL 2J 2} 20,000,000 = 20,000
ICH A

5,980,000% 5,980




BQOOARHAE HIVRIANAS NERINUE S(a0) A YTy el - 12
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200 AE2HA = 3,586,000 2,584,000 1,002,000
230 RYAIRS 3,586,000 2,584,000 1,002,000
233 U= 160,000 125,000 35,000
401 AlgH[Z RO 160,000 125,000 35,000
01 AlgH| 160,000 125,000 35,000
O&+HIESU MBUEA HH S T|Ef SA} 35,000,000% = 35,000
235 7|AIZA 2,736,000 1,769,000 967,000
401 AldB|Z ]| 2,736,000 1,769,000 967,000
01 AldH| 2,736,000 1,769,000 967,000
gt of|B|d 2 WA||of| ThHE FCHSAL
&4 232,000,000 - 7|4 100,000,000¥ = 132,000
O&SEHES 0 £ it U B WHZAL 450,000,000 = 450,000
CSABIE 24 0/F5 A1g 385,000,000 = 385,000
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2:(200)A=HA S S (230)RYAUURS  ME:Q234)F=52  F:(401)AlSH| L2 LH|
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200 A=27|2

6,138,711 5,780,711 358,000
6,138,711 5,780,711 358,000
6,027,571 5,669,571 358,000
6,027,571 5,669,571 358,000
6,013,432 5,655,432 358,000
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401 AlGH|ZRCHH|
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358,000,000 = 358,000
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2Q00)AHEARE  BH(230)RFHAZS  ME(234)TRE  =:(401)AIHI LR (Chel - M
n 2 Z
Ry R oaae | o & 57
200 22H2|Z 11,521,739| 10,096,739 | 1,425,000
230 SRS 11,521,739| 10,096,739 | 1,425,000
234 P2 10,847,000| 9,422,000| 1,425,000
401 AlGH|Z SOy 10,847,000| 9,422,000| 1,425,000
01 AldH| 9,925,000| 8,800,000 1,125,000
Oblis= 2R ZAL 900,000,000 = 900,000
OMLEAIMLE M| 2AL AALA A 25,000,000¥ = 25,000
O3k 2 =2 20| ZAt 200,000,000% = 200,000
02 Z2H| 900,000 600,000 300,000
023k 2 =220 ZAF 22| 300,000,000¢ = 300,000




